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3HQXOLV� PHQ\DGDUL� EDKZD� GDODP� SURVHV� SHQ\XVXQDQ� 3UR\HN� $NKLU LQL� EDQ\DN�

PHQJDODPL�NHQGDOD��QDPXQ�EHUNDW�EDQWXDQ��ELPELQJDQ��NHUMDVDPD�GDUL�EHUEDJDL�SLKDN�GDQ�

EHUNDK� GDUL� $OODK� 6:7� VHKLQJJD� NHQGDOD�NHQGDOD� \DQJ� GLKDGDSL� WHUVHEXW� GDSDW� GLDWDVL��

8QWXN�LWX�SHQXOLV�PHQ\DPSDLNDQ�XFDSDQ�WHULPD�NDVLK�NHSDGD�

�� $OODK�6:7�\DQJ�VHODOX�PHPEHULNDQ�FLQWD�NDVLK�GDQ�ULGKR�1\D�NHSDGD�SHQXOLV��VHUWD�

EHUNDW��UDKPDW��GDQ�NDUXQLD�1\D�DWDV�L]LQ�\DQJ�WHODK�(QJNDX�EHULNDQ�NHSDGD�KDPED�0X�

LQL�VHKLQJJD�GDSDW�PHQJHUMDNDQ�3UR\HN�$NKLU�LQL�GDSDW�GLODOXL�

�� .HGXD�2UDQJWXD WHUNDVLK��0DPDK GDQ�3DSDK \DQJ� WHODK�PHPEHULNDQ�GRD� UHVWX� VHUWD�

GXNXQJDQ�\DQJ�VDQJDW�EHVDU�VHKLQJJD�SHQXOLV�WHUPRWLYDVL�XQWXN�PHQ\HOHVDLNDQ�3UR\HN�

$NKLU�LQL�

�� ,EX�<X\XQ�6LWL�5RKPDK��6�7���0�7��VHODNX�SHPELPELQJ�,�\DQJ�WHODK�PHPEHULNDQ�DUDKDQ�

GDQ�PRWLYDVL�NHSDGD�SHQXOLV�DJDU�GDSDW�PHQJHUMDNDQ�3UR\HN $NKLU�LQL�GHQJDQ�WHUHQFDQD�

GDQ�VHVXDL�GHQJDQ�WDUJHW�

�� ,EX�6XFL�$XOLD��6�7���0�7� VHODNX�SHPELPELQJ�,,�\DQJ�WHODK�PHPEHULNDQ GXNXQJDQ�GDQ�

EDQWXDQ� GDODP� SURVHV SHQ\HOHVDLDQ 3UR\HN� $NKLU� VHUWD� PHPEHULNDQ� DUDKDQ� VHUWD�

PRWLYDVL�\DQJ�WDN�SHUQDK�KHQWL�

�� 7HPDQ�� WHPDQ�.RQWUDNDQ$LQJ�\DQJ�VHODOX�PHPRWLYDVL��PHQGXNXQJ��PHPEDQWX��GDQ�

EHUEDJL�SHQGDSDW�VHODPD�SURVHV�SHQJHUMDDQ�3UR\HN�$NKLU�LQL��

�� 7HPDQ�± WHPDQ�&RPPXQLFDWLRQ�6\VWHP�/DERUDWRU\�\DQJ�VHQDQWLDVD�VHODOX�EHUEDJL�LOPX��

SHQGDSDW��VHUWD�PDVXNDQQ\D�VHODPD�VD\D�PHPEXDW�3UR\HN�$NKLU�LQL�

�� =DKDUDK� 7ULFDK\DQL� $GULDQ� \DQJ� VHODOX� VDEDU� PHQHPDQL� SHQXOLV� NHPDQD� VDMD�

PHQ\HOHVDLNDQ�3UR\HN�$NKLU�LQL�

�� 7HPDQ� ± WHPDQ� NHODV� '�� 7HNQLN� 7HOHNRPXQLNDVL� \DQJ� VD\D� FLQWDL� GDQ� WHPDQ�

VHSHUMXDQJDQ�%HUVDPD� \DQJ� VHODOX�PHPEHULNDQ� GRD� VHUWD�PRWLYDVLQ\D� GDODP� SURVHV�

SHQJHUMDDQ�3UR\HN�$NKLU�LQL�

�� 6HOXUXK� GRVHQ� GDQ� VWDII� 7HONRP� 8QLYHUVLW\� \DQJ� WHODK� EDQ\DN� PHPEDQWX� GDODP�

SHQJHUMDDQ�3UR\HN�$NKLU�

��� 6HOXUXK�SLKDN�\DQJ�WLGDN�GDSDW�SHQXOLV�XFDSNDQ�


